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1. Approximate the value of e with acceptable error ¢ = 10™3 by using Taylor approximation
for the function f(z) = e* about zo = 0.

Nete that ¢ = X,a) Wwe have
- [l = fO=f 0= = &
and  flo)=f0) = (o) =- =1
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To ma,ke_ fure ‘(.‘Lajc .| < [DA;, we need + choote n
(@grawﬂj [arfe cuch that
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One con alto wite & Matlal irgram t Gmpute this sum.
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2. How large should n be so that the function f(z) = e~2* can be approximated by its n’th
Taylor polynomial p,(z) within error tolerance ¢ = 1076 for all x € (—2,1) ?
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